Chapter 3 Solutions
MaTH 251, CaLcuLus I, FALL 2018

Section 3.3
1. f'(z) = 2%cosz + 2z sinz
2. f'(x) = cosx — xsinxz + 2sec’ x
5.y = secf(sec? O + tan’ 0

9 ,  2—tanz 4 zsec’x
Y= (2 — tan z)?

15. f'(0) = cos(f) sin(f) — @ sin? @ + 0 cos? &
16. f'(t) = e'(cott + tcott — tesc? ¢

19. —csc’x

22. y=x+ 1.
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33. We need z such that cosz = —580x = £ + 27mn.
37. 5ft/rad.
53. A:—%B:—%.

Section 3.4
4

2. ———
3¢/(1 1 4a)?

7. F'(z) = 4(52° + 223)*(302° 4 62?).
15. f'(t) = e"(bcos bt + asin bt

17. fl(x) = 2z =3)* 5> +x+ D) 2r+ 1)+ (22 + .+ 1)° - 4(22 — 3)3 - 2
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22,y = 5(1,-+ —) <1 _ —2)

T T
23. y' = (sec? het*?

27. () = I
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79.

y = e Y2(1 4 27)
Y = 2cos 2resn 2 4 227 cos (€2?)

y' = —sinsin (30)-(cos 30-3  y" = —3[(cos (30) cossin(36)(cos (36)-3+sin(sin (360)(— sin (36)-
3

—

)
g cos (107t) cm/s.



